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= A 10,482,440 8,498,000 1,984,440
dALE 10,482,440 8,498,000 1,984,440
BARNEFTA7IAFA 5,039,940 4,445,500 594,440
Ta7IgSEAd 1,242,100 1,127,900 114,200
B ET L7 ATEA LA A 793,000 740,000 53,000
306 A 793,000 740,000 53,000
793,000 740,000 53,000 Easiiey 53,000
0485 =T 27| 4A LA G u| A A
744 793,000,000 - 714 740,000,000 = 53,000
7 EPRIDEGF S 2k A Y A ¢ 330,000 300,000 30,000
201 Luk-FH] 30,000 0 30,000
30,000 0 30,000 P ApE-<g v 30,000
7 BPRIDEAF A B A 5201 2] 5 = 30,000
FTR7IAFAAN ARG T FH 59,100 57,900 1,200
203 QHE-F70 2,600 1,400 1,200
2,600 1,400 1,200(03 A& 32 Q521 1,200
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7373 2,600,0009 - 7178 1,400,0009= 1,200
S R Rl s 30,000 0 30,000
307 ®7to]x 30,000 0 30,000
30,000 0 30,000 iR EA R 30,000
OFrsarida ezt = 30,000
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234,000 260,000 A26,000(01 FIZEAFE B 2 A26,000
OAlZ=AZ A7 A F AR =T A A
77 234,000,000 - 714 260,000,000 = A26,000
Fa7IA7IEAd 566,300 586,300 20,000
o R e R M e R 20,000 30,000 A10,000
307 F17kold 20,000 30,000 10,000
20,000 30,000 A10,000({02 TZHEGRZ A10,000
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7874 20,000,000 - 717 30,000,000¢1= A10,000
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307 W1zkelxd 40,000 50,000 A10,000
40,000 50,000 A10,000(02 ZHE AR A10,000
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ES AR ANIE 526,240 0 526,240
2 AA LAY 526,240 0 526,240
307 ®lzkolxd 526,240 0 526,240
526,240 0 526,240|05 RS 526,240
O&EAALAH D = 526,240
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A A LG sEl P e 885,000 495,000 390,000
ESA R NIE 885,000 495,000 390,000
2l FA4AE ALAHA o)A E A 650,000 250,000 400,000
307 Rzl A 650,000 250,000 400,000
650,000 250,000 400,000|08 o] x}x A 400,000
Ox33A54 45 Add Ao A AT
774 650,000,000 - 7174 250,000,000¢ = 400,000
2dEd Y v 90,000 100,000 A10,000
307 F17kold 90,000 100,000 10,000
90,000 100,000 A10,000{04 TIZFPALR Z A10,000
Oa7dsdduras N
7479 90,000,0009¢1 - 7174 100,000,000¢= 10,000
AEgE (7192 LE) 4,535,000 3,535,000 1,000,000
WA A= 3,500,000 2,500,000 1,000,000
S| LA A A=A 2,000,000 1,000,000 1,000,000
702 7ledEH 2,000,000 1,000,000 1,000,000
2,000,000 1,000,000 1,000,000|01 7]5AZ== 1,000,000
O3 A AAE=ExA
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